MULTIPLE CHOICE

Chapter 7
1.
Classical economists believed that production could be stuck below its full employment level for a long period of time.

	a.
	True

	b.
	False


2.
According to classical economics,

	a.
	the economy moves to full employment in the long run

	b.
	the economy is always at full employment in the short run

	c.
	the economy is rarely at full employment

	d.
	business cycles explain long-run fluctuations in the economy

	e.
	the economy is at full employment in the short run, but in the long run, business cycle movements lead the economy away from full employment


3.
Which of the following is more of a short-run than a long-run goal?

	a.
	increasing the capital stock

	b.
	encouraging investment in human capital

	c.
	moderating economic fluctuations

	d.
	stimulating economic growth

	e.
	increasing private investment


4.
John Maynard Keynes and his followers argued that

	a.
	the classical model does a good job of explaining the economy's operation in both the short run and long run

	b.
	the short run is unimportant so economists should focus their attention on the long run

	c.
	the economy should be allowed to function with minimal government interference

	d.
	the economy operates the same way in both the short run and long run

	e.
	while the classical model might explain economic performance in the long run, the long run could take a long time to reach


5.
Which of the following events triggered intense debate over the classical model of the economy?

	a.
	U.S. Civil War

	b.
	World War I

	c.
	the Baby Boom

	d.
	the Great Depression

	e.
	World War II


6.
A critical assumption in the classical model is that

	a.
	markets are perfectly competitive in the short run

	b.
	markets clear in the long run

	c.
	markets clear in the short run

	d.
	markets are perfectly competitive in the long run

	e.
	all variables are expressed in nominal terms


7.
The market clearing assumption is

	a.
	a central assumption of the short-run macro model

	b.
	the idea that prices in every market will adjust until quantity supplied and quantity demanded are equal

	c.
	the idea that excess supply always leads to an increase in demand

	d.
	the idea that markets only work when they are in equilibrium

	e.
	believed by most economists today to be an unreasonable assumption


8.
Because markets may not clear for several months or even several years, the classical model

	a.
	is no longer considered valuable by mainstream economists

	b.
	has no value when explaining a situation where excess supply exists

	c.
	is irrelevant to any discussion of a market in which excess demand exists

	d.
	does a better job of explaining short-term fluctuations than long-run growth

	e.
	does a better job of explaining long-run growth than short-run fluctuations


9.
Which of the following groups would be considered suppliers in the labor market?

	a.
	government agencies

	b.
	firms

	c.
	households

	d.
	stockholders

	e.
	landlords


10.
The classical model

	a.
	relies on the equivalency of the labor, capital, and land resource markets

	b.
	includes a land market and a labor market

	c.
	focuses primarily on capital markets

	d.
	focuses primarily on labor markets

	e.
	focuses on labor, capital, and land markets


11.
Factor payments are

	a.
	amounts paid to resource owners for the use of their resource

	b.
	amounts paid for goods

	c.
	another term for revenues

	d.
	the amount households put into savings

	e.
	payments made to workers who are employed only part time
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12.
Refer to Figure 7-1. According to the graph, the equilibrium real hourly wage and quantity of labor employed, respectively, are

	a.
	$10, 110 million workers

	b.
	$8, 130 million workers

	c.
	$8, 150 million workers

	d.
	$6, 150 million workers

	e.
	$6, 130 million workers


13.
Refer to Figure 7-1. If the real hourly wage rate was $2 below the equilibrium wage, what would be the effect?

	a.
	There would be a shortage of 40 million workers and the wage rate would rise.

	b.
	There would be a shortage of 20 million workers and the wage rate would rise.

	c.
	There would be a surplus of 40 million workers and the wage rate would fall.

	d.
	There would be a surplus of 20 million workers and the wage rate would fall.

	e.
	There would be unemployment.


14.
Refer to Figure 7-1. If the real hourly wage rate was $2 above the equilibrium wage, what would be the effect?

	a.
	There would be a shortage of 40 million workers and the wage rate would rise.

	b.
	There would be a shortage of 20 million workers and the wage rate would rise.

	c.
	There would be a surplus of 40 million workers and the wage rate would fall.

	d.
	There would be a surplus of 20 million workers and the wage rate would fall.

	e.
	There would be unemployment.


15.
Refer to Figure 7-1. If the labor market is in equilibrium, there is no

	a.
	unemployment

	b.
	frictional unemployment

	c.
	structural unemployment

	d.
	seasonal unemployment

	e.
	cyclical unemployment
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16.
Refer to Figure 7-2. The economy's potential level of output on the graph

	a.
	cannot be determined with this information, only actual output can be found

	b.
	is rising

	c.
	exceeds $8 trillion

	d.
	is less than $8 trillion

	e.
	equals $8 trillion


17.
Refer to Figure 7-2. The economy is at full employment if

	a.
	the quantity of labor supplied exceeds the quantity demanded

	b.
	the quantity of labor demanded exceeds the quantity supplied

	c.
	130 million workers are employed

	d.
	the real hourly wage is rising

	e.
	we reach the maximum point on the production function


18.
What is the full-employment output level?

	a.
	the output level that results when the loanable funds market clears

	b.
	the output level that results when the returns to labor are zero

	c.
	the output level that results when factories are completely full

	d.
	the output level that results when the labor market clears

	e.
	the output level that would occur if the output level was zero


19.
Using the following information on a hypothetical economy in equilibrium, calculate total output for 2004.

	Consumption Spending
	$3.5 trillion

	Net Taxes
	$2.7 trillion

	Household Saving
	$2.5 trillion

	Investment Spending
	$2.2 trillion

	Government Purchases
	$3.0 trillion

	Exports
	$1.1 trillion

	Imports
	$1.1 trillion



Total output for 2004 is

	a.
	$5.2 trillion

	b.
	$5.7 trillion

	c.
	$8.4 trillion

	d.
	$8.7 trillion

	e.
	$13.9 trillion


20.
What is the relationship between household saving and taxes?

	a.
	taxes = income - consumption - household saving

	b.
	household saving = income + taxes - consumption

	c.
	taxes = income - consumption + household saving

	d.
	household saving = consumption + income - taxes

	e.
	taxes = household saving - income - consumption


21.
Assuming the economy was in equilibrium, use the following information to calculate the total value of leakages.

	Consumption Spending
	$3.5 trillion

	Net Taxes
	$2.7 trillion

	Household Saving
	$2.5 trillion

	Investment Spending
	$2.2 trillion

	Government Purchases
	$3.0 trillion



Total leakages are

	a.
	$2.5 trillion

	b.
	$2.7 trillion

	c.
	$3.0 trillion

	d.
	$5.2 trillion

	e.
	$5.7 trillion


22.
Which of the following is an injection into the circular flow?

	a.
	household saving and government spending

	b.
	business investment and household saving

	c.
	net taxes and household saving

	d.
	government spending and business investment

	e.
	net taxes and government spending


23.
Total spending will equal total output

	a.
	after inventory adjustments

	b.
	only when total leakages are equal to total injections

	c.
	by the end of every year

	d.
	only when the sum of saving and investment equals the sum of net taxes and government expenditures

	e.
	saving is equal to net taxes


24.
Assuming the economy was in equilibrium, use the following information to determine the government's budget deficit.

	Consumption Spending
	$3.5 trillion

	Net Taxes
	$2.7 trillion

	Household Saving
	$2.5 trillion

	Investment Spending
	$2.2 trillion

	Government Purchases
	$3.0 trillion



The government's deficit (surplus) was

	a.
	-$0.3 trillion deficit ($0.3 trillion surplus)

	b.
	-$0.2 trillion deficit

	c.
	$0.2 trillion deficit

	d.
	$0.3 trillion deficit

	e.
	$0.5 trillion deficit


25.
Assuming the economy was in equilibrium, use the following information to determine the total amount of funds demanded in the loanable funds market.

	Consumption Spending
	$3.5 trillion

	Net Taxes
	$2.7 trillion

	Household Saving
	$2.5 trillion

	Investment Spending
	$2.2 trillion

	Government Purchases
	$3.0 trillion


	a.
	$0.3 trillion

	b.
	$2.2 trillion

	c.
	$2.5 trillion

	d.
	$3.0 trillion

	e.
	$5.2 trillion


26.
In the classical model, if government tries to increase employment and output by increasing its own purchases,

	a.
	it will achieve its goal and economic conditions will improve

	b.
	it will not attain its objective unless it also decreases taxes

	c.
	its actions will cause the interest rate to rise, which will choke off investment spending and consumption

	d.
	firms will be motivated to increase their output, thereby creating even more jobs

	e.
	saving will also increase, as more people are employed


27.
Changes in government spending or taxes designed to stimulate the economy are examples of

	a.
	fiscal policy

	b.
	monetary policy

	c.
	supply management policy

	d.
	classical policy

	e.
	regulatory policy


28.
In the loanable funds market, if the government is running a deficit

	a.
	it is a supplier of funds as it’s taking in more than it’s spending

	b.
	it is a demander of funds as it’s taking in more than it’s spending

	c.
	it is a supplier of funds as it’s spending more than it’s taking in

	d.
	it is neither be a supplier or demander

	e.
	it is a demander of funds as it’s spending more than it’s taking in


29.
What is the equilibrium condition in the loanable funds market?

	a.
	S + G =  IP - T

	b.
	S = IP + T - G

	c.
	S + IP = G - T

	d.
	S - T = IP + G

	e.
	S = IP + G - T
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30.
Consider the above figure.  Assume the government initially was running a deficit at point A.  In this case, the government has 

	a.
	increased its deficit, causing the interest rate to rise

	b.
	lowered its deficit, causing the interest rate to fall

	c.
	turned its deficit into a surplus, causing the interest rate to fall

	d.
	lowered its deficit, causing the interest rate to rise

	e.
	increased its deficit, causing the interest rate to fall


Chapter 8:

1.
Gross Domestic Product (GDP) per capita is

	a.
	GDP in current dollars

	b.
	GDP adjusted for inflation

	c.
	GDP per person

	d.
	GDP per dollar spent

	e.
	GDP per day


2.
Economic growth is defined as a long-run increase in an economy's

	a.
	resources

	b.
	employment rate

	c.
	total output of goods and services

	d.
	level of profits

	e.
	money supply


3.
Which of the following mathematical statements is correct

	a.
	Total Output=Productivity x Average Hours x the employment-population ratio x Population
	c.
	Total Output=Productivity + Average Hours + the employment-population ratio + Population

	b.
	Total Output=Productivity / Average Hours x the employment-population ratio / Population
	d.
	Total Output=(Productivity x Average Hours) / (the employment-population ratio x Population)


4.
Which of the following could cause economic growth

	a.
	growth in productivity
	d.
	growth in the population

	b.
	growth in the employment-population ratio
	e.
	all of these

	c.
	growth in the average number of hours worked


5.
Growth in employment can result from either an increase in labor supply or an increase in labor demand.

	a.
	True

	b.
	False


6.
Growth in employment can result

	a.
	from an increase in labor supply only

	b.
	from an increase in labor demand only

	c.
	from changes in technology only

	d.
	from an increase in either labor supply or labor demand

	e.
	only when the wage rate falls


7.
In the U.S. over the past century, increases in labor

	a.
	supply have outpaced increases in labor demand, causing the average wage rate to fall

	b.
	supply have outpaced increases in labor demand, causing the average wage rate to rise

	c.
	demand have outpaced increases in labor supply, causing the average wage rate to fall

	d.
	demand have outpaced increases in labor supply, causing the average wage rate to rise

	e.
	demand have occurred at the same pace as increases in labor supply, so the average wage rate has remained unchanged
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8.
Refer to Figure 8-2. An increase in output from A to B could be caused by an increase in

	a.
	labor demand only

	b.
	labor supply only

	c.
	labor demand or in labor supply

	d.
	technology only

	e.
	the capital stock


9.
Which of the following is a reason why the labor demand curve would shift rightward?

	a.
	a decrease in the amount of capital equipment

	b.
	an increase in educational attainment of the population

	c.
	a shift to earlier retirement

	d.
	an increase in population

	e.
	an increase in the number of two-family households


10.
Which combination of government policies would be most likely to increase labor supply?

	a.
	increasing income tax rates and cutting transfer payments to the needy

	b.
	decreasing income tax rates and cutting transfer payments to the needy

	c.
	decreasing income tax rates and increasing subsidies to businesses for hiring certain kinds of workers

	d.
	increasing income tax rates and cutting subsidies to business

	e.
	cutting transfer payments to the needy and increasing subsidies to business


11.
Which combination of government policies would be most likely increase labor demand?

	a.
	increasing subsidies to education and increasing subsidies to businesses for hiring new employees

	b.
	reducing income tax rates and cutting transfer payments to the needy

	c.
	raising income tax rates and cutting transfer payments to the needy

	d.
	reducing subsidies to education and increasing subsidies to businesses for hiring new employees

	e.
	increasing subsidies to education and reducing subsidies to businesses for hiring new employees


12.
An increase in employment and an increase in the capital stock

	a.
	will increase and decrease labor productivity, respectively

	b.
	will decrease and increase labor productivity, respectively

	c.
	will increase and increase labor productivity, respectively

	d.
	will decrease and decrease labor productivity, respectively

	e.
	both will shift the production function, but not affect labor productivity


13.
If the capital stock increases faster than employment, then we would expect

	a.
	both output and labor productivity to rise

	b.
	output to rise but labor productivity to fall

	c.
	both output and labor productivity to fall

	d.
	output to fall but labor productivity to rise

	e.
	output to rise but labor productivity to remain unchanged


14.
Which of the following is a stock variable?

	a.
	the interest rate

	b.
	real GDP

	c.
	investment in physical capital

	d.
	physical capital

	e.
	investment in human capital


15.
An increase in government spending will increase the government budget deficit, which tends to increase interest rates, increase saving, crowd out private investment, stimulate capital formation, and slow the level of economic activity.

	a.
	True

	b.
	False


16.
Reducing business taxes or providing specific investment incentives can shift the demand for loanable funds curve

	a.
	rightward, slow the growth of the capital stock, and improve the standard of living

	b.
	rightward, speed the growth of the capital stock, and improve the standard of living

	c.
	leftward, speed the growth of the capital stock, and reduce the standard of living

	d.
	rightward, speed the growth of the capital stock, and reduce the standard of living

	e.
	leftward, slow the growth of the capital stock, and reduce the standard of living
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17.
Refer to Figure 8-4. Which of the following policies would most likely shift the supply of loanable funds curve from S1 to S2?

	a.
	introduction of an investment tax credit

	b.
	cutting the corporate profits tax rate

	c.
	increasing personal income tax rates

	d.
	eliminating taxes on interest income

	e.
	decreasing the government's budget deficit


18.
Which of the following would be most likely to encourage households to save a greater proportion of their income?

	a.
	a reduction in the sales tax rate

	b.
	an increase in the capital gains tax rate

	c.
	an elimination of tariffs (taxes on imported goods)

	d.
	changing to a flat income tax (with a single tax rate charged on all income)

	e.
	changing from an income tax to a consumption tax


19.
In the loanable funds market, an increase in the desire to save is translated into a(n)

	a.
	increase in investment spending and slower growth in the capital stock

	b.
	decrease in investment spending and slower growth in the capital stock

	c.
	decrease in investment spending and faster growth in the capital stock

	d.
	increase in investment spending and faster growth in the capital stock

	e.
	increase in investment spending but with no growth in the capital stock
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20.
Refer to Figure 8-6. Starting from a balanced budget, the government runs a budget deficit of $200 billion. Investment spending will

	a.
	decrease by $100 billion

	b.
	decrease by $200 billion

	c.
	increase by $100 billion

	d.
	increase by $200 billion

	e.
	not be affected by government budget deficit


21.
How would budget deficit reduction through reduced government spending affect economic growth?

	a.
	It would not affect economic growth because the budget deficit and economic growth are unrelated.

	b.
	It would stimulate economic growth.

	c.
	It would hinder economic growth.

	d.
	It would not affect economic growth because the positive and negative effects of deficit reduction would cancel each other out.

	e.
	It depends on which government programs are cut to achieve deficit reduction.


22.
A decrease in government spending would

	a.
	lower the interest rate, which is unlikely to influence private investment spending

	b.
	raise the interest rate and decrease private investment spending

	c.
	lower the interest rate and decrease private investment spending

	d.
	raise the interest rate and increase private investment spending

	e.
	lower the interest rate and increase private investment spending


23.
Which of the following would not enhance economic growth?

	a.
	subsidies for investments in physical capital

	b.
	an increase in the corporate profits tax

	c.
	subsidies for investments in human capital

	d.
	a tax cut that encourages saving

	e.
	subsidies for research and development expenditures


24.
An increase in human capital would lead to

	a.
	a decrease in the standard of living

	b.
	an upward shift of the production function

	c.
	a decrease in productivity

	d.
	cutbacks in government skill-training programs

	e.
	a decrease of the capital stock


25.
Everything else equal, technological change will typically

	a.
	move the economy along a fixed production function, increasing both productivity and output

	b.
	move the economy along a fixed production function, increasing output but lowering productivity

	c.
	cause the production function to shift upward, increasing both output and productivity

	d.
	cause the production function to shift upward, increasing output but lowering productivity

	e.
	cause the production function to shift upward, increasing output but leaving productivity unchanged
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26.
Refer to Figure 8-8. If the economy starts at point X, growth in the capital stock will cause the economy to move

	a.
	toward point A

	b.
	toward point B

	c.
	toward curve C

	d.
	toward curve D

	e.
	nowhere; it will remain at point X
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27.
Refer to Figure 8-9. The production possibilities frontier tells us that there is a trade-off between capital goods and consumer goods and a country can attempt to increase its capital stock by

	a.
	shifting resources away from capital goods toward consumer goods

	b.
	shifting resources away from human capital goods toward physical capital goods

	c.
	shifting resources away from consumer goods toward capital goods

	d.
	shifting resources away from physical capital goods toward human capital goods

	e.
	shifting resources away from consuming tomorrow toward consuming today
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28.
In the above figure, what causes the supply to change from S1 to S2 at the same time demand changes from D1 to D2?

	a.
	the investment tax credit increases.

	b.
	the capital gains tax decreases while the corporate profits tax increases.

	c.
	the capital gains tax increases while the investment tax credit increases.

	d.
	the capital gains tax decreases while the investment tax credit decreases.


29.
Which of the following helps explain low growth rates of many less developed countries?

	a.
	good law enforcement

	b.
	political stability

	c.
	low population growth rates

	d.
	excellent legal systems

	e.
	near-subsistence levels of per capita output
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30.
In the above figure, which of the following combination of policies would shift the curves as indicated?

	a.
	a decrease in income tax rates coupled with increased employment subsidies to firms.

	b.
	an increase in income tax rates coupled with increased employment subsidies to firms.

	c.
	an increase in the safety net available to individuals coupled with a decrease in income tax rates.

	d.
	increased employment subsidies available to firms coupled with an increase in the safety net available to firms.


Chapter 9:

1.
Which of the following statements best describes the U.S. economy since 1960?

	a.
	Potential output has risen steadily, but actual output has fluctuated above and below full-employment output.

	b.
	Actual output has risen steadily, but potential output has fluctuated above and below actual output.

	c.
	Potential output and actual output have both risen steadily.

	d.
	Potential output and actual output have both fluctuated above and below what the classical model predicts.

	e.
	Potential output has remained constant but actual output has risen.


2.
During recessions, output

	a.
	and unemployment both fall

	b.
	and unemployment both rise

	c.
	rises, but unemployment falls

	d.
	falls, but unemployment rises

	e.
	and unemployment stagnate and both remain constant


3.
A period during which GDP exceeds its potential level is best known as a(n)

	a.
	expansion

	b.
	contraction

	c.
	boom

	d.
	recession

	e.
	depression


4.
When GDP is rising, the economy is experiencing

	a.
	a contraction

	b.
	a recession

	c.
	a financial crisis

	d.
	an expansion

	e.
	equilibrium


5.
Why is it unlikely that expansions could be explained by an increase in labor demand in the classical model?

	a.
	It would be hard to say why productivity decreases.

	b.
	Productivity increases are too fast and variable to explain expansions.

	c.
	Productivity tends to improve at a constant and steady rate.

	d.
	Only unexplained spending changes can lead to changes in output and employment, not the other way around.

	e.
	Productivity improvements are rather slow.


6.
One difficulty with any explanation of economic fluctuations based on a shift in labor supply is that

	a.
	labor supply is based on workers' preferences

	b.
	labor supply shifts all the time without causing recessions or expansions

	c.
	labor supply is difficult to measure

	d.
	workers' preferences tend to change very slowly

	e.
	the unemployment rate changes during economic fluctuations


7.
Which of the following assumptions of the classical model is the best reason we cannot use it to explain short-run economic fluctuations?

	a.
	Markets never clear in the long run.

	b.
	The labor market clears.

	c.
	Prices remain constant and supply and demand adjust.

	d.
	It does not show how an economy recovers from a recession.

	e.
	Government intervention is essential to get markets to clear.


8.
In order for the classical model to explain expansions and recessions, which of the following would have to be true?

	a.
	Labor supply could not change.

	b.
	The labor market equilibrium would have to change suddenly and significantly.

	c.
	Labor demand could not change.

	d.
	The labor market equilibrium would have to change slowly.

	e.
	The labor market equilibrium could not move.


9.
When real GDP is falling, the economy is experiencing

	a.
	a recession.

	b.
	a financial crisis.

	c.
	an expansion.

	d.
	equilibrium.


Chapter 10:

1.
The focus of the short-run macro model is on the role of

	a.
	spending in explaining economic fluctuations

	b.
	labor in explaining economic fluctuations

	c.
	financial markets in explaining economic fluctuations

	d.
	output in explaining economic fluctuations

	e.
	production in explaining economic fluctuations


2.
Disposable income is best defined as

	a.
	income adjusted for inflation

	b.
	nominal income

	c.
	the income remaining after bills have been paid

	d.
	income after taxes have been paid and transfers received

	e.
	income paid in dollars that are worthless


3.
Which of the following would unambiguously increase consumption spending?

	a.
	an increase in real disposable income coupled with a decrease in real wealth

	b.
	an increase in real wealth coupled with more pessimistic expectations regarding future income

	c.
	a decrease in real disposable income coupled with a decrease in the interest rate

	d.
	a decrease in the interest rate coupled with an increase in real wealth

	e.
	increased pessimism regarding future income coupled with an increase in the interest rate


4.
Use the table below to determine autonomous consumption spending.

	Real
	Real

	Disposable
	Consumption

	Income
	Spending

	($Billions)
	($Billions)

	$     0   
	$   100    

	200
	280

	400
	460

	600
	640

	800
	820

	1,000   
	1,000   

	1,200   
	1,180   


	a.
	$0

	b.
	$100

	c.
	$180

	d.
	$200

	e.
	$1,000


5.
Which of the following would not increase autonomous consumption spending?

	a.
	expectations of greater future income

	b.
	a lower interest rate

	c.
	reduced consumer debt

	d.
	increased household wealth

	e.
	increased disposable income


6.
Use the table below to find the marginal propensity to consume.

	Income
	Taxes
	Consumption

	($Billions)
	($Billions)
	($ Billions)

	$1,000
	$600
	$   400  

	   2,000
	  600
	1,000

	   3,000
	  600
	1,600


	a.
	the marginal propensity to consume cannot be determined from the information given

	b.
	0.4

	c.
	0.5

	d.
	0.6

	e.
	0.8
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7.
Refer to Figure 10-2. Use the graph to determine the marginal propensity to consume.

	a.
	0.5

	b.
	0.6

	c.
	0.75

	d.
	0.8

	e.
	0.9


8.
An upward shift of the consumption function could be caused by a(n)

	a.
	increase in the interest rate

	b.
	decrease in the interest rate

	c.
	decrease in wealth

	d.
	increase in the autonomous production

	e.
	increase in disposable income


9.
What is the difference between actual investment (as defined in GDP) and planned investment?

	a.
	Planned investment does not include unplanned inventory changes; actual investment does.

	b.
	There is no difference; they are the same.

	c.
	Planned investment does not include depreciation; actual investment does.

	d.
	Planned investment includes inventories; actual investment does not.

	e.
	Planned investment includes depreciation; actual investment does not.


10.
In the short-run macro model, what is the relationship between income and government purchases?

	a.
	It is positive and stable.

	b.
	It is positive but unstable.

	c.
	It is negative and stable.

	d.
	It is negative but unstable.

	e.
	There is no relationship between the two variables.


11.
Which of the following components of spending is not treated as a given value in the short-run macro model?

	a.
	net exports

	b.
	imports

	c.
	investment spending

	d.
	consumption spending

	e.
	government spending


12.
In the short-run macro model, if GDP is $5 trillion and aggregate expenditure is $4 trillion,

	a.
	GDP will rise because inventories will rise

	b.
	GDP will fall because inventories will rise

	c.
	GDP will remain the same because this is an equilibrium

	d.
	investment will decrease

	e.
	the government will have to increase taxes


13.
In the short-run macro model, if GDP = $5 trillion and aggregate expenditure = $4.6 trillion, we would expect

	a.
	prices to fall until the additional $0.4 trillion of output was sold

	b.
	prices to rise

	c.
	output to rise because businesses anticipate that buyers will spend more in the future to compensate for weak spending in this period

	d.
	inventories to rise by $0.4 trillion

	e.
	inventories to shrink by $0.4 trillion
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14.
Refer to Figure 10-6. Which point represents the value of equilibrium GDP? Assume NX=0

	a.
	A

	b.
	B

	c.
	C

	d.
	D

	e.
	E or F


15.
In the short-run macro model, cyclical unemployment

	a.
	will be eliminated once the equilibrium output level is reached

	b.
	is caused by an economic expansion

	c.
	occurs when the economy is overheated

	d.
	is caused by too much spending

	e.
	results from insufficient spending


16.
Suppose the economy is in equilibrium when business firms decide to increase investment spending by $100 billion. According to the short-run macro model, what would be the effect on equilibrium real GDP?

	a.
	There would be no effect; the increased investment spending would be offset by decreased spending in other sectors.

	b.
	It would increase by $100 billion.

	c.
	It would increase by more than $100 billion.

	d.
	It would increase, but by less than $100 billion.

	e.
	It would decline by $100 billion.


17.
If the marginal propensity to consume is 0.8, what is the value of the expenditure multiplier?

	a.
	0.2

	b.
	0.8

	c.
	1.25

	d.
	5.0

	e.
	8.0


18.
If investment spending decreases by $500 billion and if MPC = 0.6,

	a.
	equilibrium GDP will rise by $1,250 billion

	b.
	equilibrium GDP will fall by $500 billion

	c.
	equilibrium GDP will fall by $1,250 billion

	d.
	equilibrium GDP will rise by $500 billion

	e.
	nothing will happen in the short run


19.
Which of the following would shift the aggregate expenditure line upward?

	a.
	an increase in labor supply

	b.
	a decrease in labor demand

	c.
	a decrease in government spending

	d.
	a decrease in net exports

	e.
	an increase in autonomous consumption spending


20.
Automatic stabilizers do not include

	a.
	taxes

	b.
	interest rates

	c.
	transfer payments

	d.
	forward-looking behavior

	e.
	enhancing the multiplier effect


21.
Which of the following components of government spending and revenue serves as an automatic stabilizer?

	a.
	the wealth effect

	b.
	the multiplier

	c.
	unemployment insurance

	d.
	military spending

	e.
	property taxes


22.
If net taxes are included in the model, the equation that shows consumption at each level of income is: C = a + b(Y - T) or C = a + bY - bT.

	a.
	True

	b.
	False


23.
If autonomous consumption is $1,000, the MPC is 0.75, net taxes are $500, investment spending is $800, and government purchases equals $500, and NX = $0, what is equilibrium GDP?

	a.
	$1,800

	b.
	$1,925

	c.
	$2,566.7

	d.
	$7,200

	e.
	$7,700


24.
If the MPC is 0.8 and net taxes increase by $100 billion, what is the effect on equilibrium output?

	a.
	There is no effect; equilibrium output is not affected by a change in net taxes.

	b.
	Equilibrium output will fall by $80 billion.

	c.
	Equilibrium output will fall by $125 billion.

	d.
	Equilibrium output will fall by $400 billion.

	e.
	Equilibrium output will fall by $500 billion.


Chapter 11:

1.
When money is used to compare the costs of different goods and services, it is functioning as

	a.
	a unit of account

	b.
	a means of payment

	c.
	fiat money

	d.
	a store of wealth

	e.
	legal tender


2.
If you use a check to purchase a textbook, the check is

	a.
	the unit of value

	b.
	the means of payment

	c.
	the means of payment and the unit of value

	d.
	outside the monetary system

	e.
	worth less than an equivalent amount of currency


3.
The unit of value function of money refers to how we think about and record a transaction, whereas the means of payment function refers to how we actually pay for the items.

	a.
	True

	b.
	False


4.
The institution charged with creating and regulating the U.S. money supply is the

	a.
	U.S. Treasury

	b.
	Federal Reserve System

	c.
	Department of Commerce

	d.
	Department of Weights and Measures

	e.
	U.S. Mint


5.
Gold, silver and furs, when used as money, are referred to as

	a.
	fiat money

	b.
	precious money

	c.
	paper currency

	d.
	commodity money

	e.
	exchange money


6.
If a piece of currency must be accepted for payment because the government says so, the currency is called

	a.
	commodity money

	b.
	money backed by gold

	c.
	high-powered money

	d.
	greenbacks

	e.
	fiat money


7.
The standard definition of money is

	a.
	currency + checking account balances + saving account balances

	b.
	currency + checking account balances + travelers' checks

	c.
	currency + checking account balances + credit cards

	d.
	currency + credit cards + certificates of deposit

	e.
	currency only


8.
Which of the following is not included in the M1 money stock?

	a.
	small time deposits

	b.
	demand deposits

	c.
	checking account deposits

	d.
	travelers' checks

	e.
	cash in the hands of the public


9.
Which of the following is included in the M2 money stock?

	a.
	bonds

	b.
	stocks

	c.
	gold

	d.
	savings-type accounts

	e.
	credit card balances


10.
Given the following information, what would be the values of M1 and M2?

	Small time deposits
	$650 billion

	Checking deposits
	$300 billion

	Savings-type accounts
	$750 billion

	Money market mutual funds
	$600 billion

	Travelers' checks
	$  25 billion

	Large time deposits
	$600 billion

	Cash in hand
	$100 billion


	a.
	M1: $400 billion; M2: $2,450 billion

	b.
	M1: $100 billion; M2: $1,075 billion

	c.
	M1: $425 billion; M2: $2,425 billion

	d.
	M1: $425 billion; M2: $3,025 billion

	e.
	M1: $1,175 billion; M2: $1,850 billion


11.
A bank's balance sheet shows

	a.
	information about the riskiness of its loans

	b.
	the amount of money loaned to each individual borrower

	c.
	the amount of cash in the hands of the public

	d.
	the number of checking accounts it maintains

	e.
	the bank's assets and liabilities


12.
Which of the following is a liability of a commercial bank?

	a.
	property and buildings owned

	b.
	loans

	c.
	government bonds held

	d.
	cash in its vault

	e.
	deposits at the bank


13.
If a commercial bank has liabilities valued at $150 million, a net worth of $50 million and assets (not including loans) of $180 million, what is the value of the bank's loans?

	a.
	$180 million

	b.
	$200 million

	c.
	$20 million

	d.
	$280 million

	e.
	$80 million


14.
Given the balance sheet below and assuming a required reserve ratio of 20 percent, how much (in dollar terms) must the bank hold in required reserves?

	Assets
	Liabilities and Net Worth

	
	
	
	

	Property
	$10 million    
	Demand deposits
	$50 million    

	Government bonds
	$20 million    
	
	

	Vault cash
	$  5 million    
	
	

	Deposited at the Fed
	$15 million    
	Net worth
	$30 million    

	Loans
	$30 million    
	
	


	a.
	It is failing to meet its reserve requirement.

	b.
	It is just meeting its reserve requirement, but has no excess reserves.

	c.
	It is meeting its reserve requirement, and has $5 million in excess reserves.

	d.
	It is meeting its reserve requirement, and has $10 million in excess reserves.

	e.
	It is meeting its reserve requirement, and has $15 million in excess reserves.


15.
Demand deposits are liabilities to a bank because

	a.
	the bank must pay interest on these accounts

	b.
	we need some method of creating a balance

	c.
	the bank must be willing to account for loans and bonds

	d.
	the bank could potentially lose this money if loans are not repaid

	e.
	the customers have the right to withdraw the funds from their checking accounts


16.
The group within the Federal Reserve System that determines the general course for the nation's money supply is the

	a.
	Federal Monetary Oversight Committee

	b.
	Federal Advisory Council

	c.
	Board of Governors

	d.
	Department of Commerce

	e.
	Federal Open Market Committee


17.
The Fed sometimes acts as a lender of last resort. This means that

	a.
	individuals can borrow from the Fed when the President declares a national disaster

	b.
	individuals can try to borrow money from the Fed if they are unable to borrow from a bank

	c.
	banks can always go to the Fed for reserves in order to purchase more government bonds

	d.
	banks can always go to the Fed for reserves to meet their obligations to depositors

	e.
	business firms can try to borrow money from the Fed they are unable to borrow from a bank


18.
Which of the following will the Federal Reserve do in order to increase the money supply?

	a.
	sell government bonds

	b.
	buy common stock

	c.
	sell common stock

	d.
	buy government bonds

	e.
	increase the salaries of its governors


19.
Commercial banks can increase the money supply by

	a.
	accepting demand deposits

	b.
	loaning out required reserves

	c.
	loaning out excess reserves

	d.
	selling bonds to the public

	e.
	buying bonds from the Fed


20.
If the Fed conducts an open market purchase of bonds, the

	a.
	money supply decreases as reserves are injected into the banking system

	b.
	demand for money increases as reserves are drained from the banking system

	c.
	demand for money decreases as reserves are injected into the banking system

	d.
	money supply increases as reserves are injected into the banking system

	e.
	money supply increases as reserves are drained from the banking system


21.
For any value of the required reserve ratio (RRR), the demand deposit multiplier is

	a.
	1/RRR

	b.
	1 - (1/RRR)

	c.
	RRR multiplied by the change in reserves

	d.
	1 - RRR

	e.
	(1/RRR) -1


22.
Assuming that households do not change their cash holdings and banks loan out all of their excess reserves, if the required reserve ratio (RRR) is 10 percent and the Fed purchases $2,000 worth of bonds from banks, how much money will be eventually created?

	a.
	$1,800

	b.
	$2,000

	c.
	$9,000

	d.
	$18,000

	e.
	$20,000


23.
The Fed can decrease the money supply by

	a.
	decreasing the reserve requirement

	b.
	making open market purchases of bonds

	c.
	selling government bonds

	d.
	destroying printed currency

	e.
	creating wealth


24.
Which of the following is reason why a bank may hold excess reserves?

	a.
	It earns more interest on reserves than on loans.

	b.
	It is required to do so.

	c.
	It may want flexibility to increase its loans if interest rates rise in the near future.

	d.
	Banks often expect a drop in the required reserve ratio.

	e.
	Banks often expect a rise in the required reserve ratio.


25.
If the Fed lowered the required reserve ratio,

	a.
	excess reserves would decrease

	b.
	banks would reduce their loans

	c.
	the money supply would increase

	d.
	banks would borrow more from the Fed

	e.
	loans would earn more interest
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